

Summary of Bids

Bid Date: June 7, 2018

Bid Time: 2:00 PM

Spec No: 18-08

Bid Place: Pearblossom Headquarters

Contract: C51570

	Bidder 1	Bidder 2
	Powell Constructors, Inc	J. McLoughlin Engineering Company, Inc.
	8555 Banana Avenue	10641 Fulton Court
	Fontana, CA, USA 92335	Rancho Cucamonga, CA, USA 91730
Engineer's Estimate	909-356-8880	909-944-1037

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Rescue Services	840	HR	\$415.00	\$348,600.00	\$355.00	\$298,200.00	\$125.00	\$105,000.00
2	Temporary Traffic Control	1	JOB	\$81,000.00	\$81,000.00	\$33,000.00	\$33,000.00	\$50,000.00	\$50,000.00
3	Mobilization and Demobilization	1	JOB	\$400,000.00	\$400,000.00	\$350,000.00	\$350,000.00	\$450,000.00	\$450,000.00
4	Remove Canal Liner	80	CF	\$68.00	\$5,440.00	\$100.00	\$8,000.00	\$330.00	\$26,400.00
5	Remove Pavement Section	40	CF	\$77.00	\$3,080.00	\$115.00	\$4,600.00	\$300.00	\$12,000.00
6	Remove Concrete at Soffit Access Door	60	CF	\$3,760.00	\$225,600.00	\$600.00	\$36,000.00	\$1,600.00	\$96,000.00
7	Remove Concrete at Abutment Backwall	10	CY	\$1,510.00	\$15,100.00	\$2,000.00	\$20,000.00	\$3,000.00	\$30,000.00
8	Remove Concrete at Existing Pier Footing	4	CY	\$2,000.00	\$8,000.00	\$3,000.00	\$12,000.00	\$7,000.00	\$28,000.00
9	General Dewatering	1	JOB	\$41,000.00	\$41,000.00	\$20,000.00	\$20,000.00	\$75,000.00	\$75,000.00
10	Shear Key Excavation	40	CY	\$723.00	\$28,920.00	\$300.00	\$12,000.00	\$1,000.00	\$40,000.00
11	Pier Footing Excavation	1,780	CY	\$92.00	\$163,760.00	\$50.00	\$89,000.00	\$90.00	\$160,200.00
12	Compacted Backfill	1,500	CY	\$98.00	\$147,000.00	\$70.00	\$105,000.00	\$75.00	\$112,500.00
13	HDPE Pipe	12	LF	\$163.00	\$1,956.00	\$200.00	\$2,400.00	\$500.00	\$6,000.00
14	Geotextile Fabric	2,600	SY	\$3.00	\$7,800.00	\$3.00	\$7,800.00	\$5.00	\$13,000.00
15	Aggregate Base	450	CY	\$121.00	\$54,450.00	\$65.00	\$29,250.00	\$65.00	\$29,250.00
16	Hot Mix Asphalt	12	TON	\$530.00	\$6,360.00	\$550.00	\$6,600.00	\$1,200.00	\$14,400.00
17	Seeding	2	ACRE	\$4,900.00	\$9,800.00	\$12,200.00	\$24,400.00	\$5,000.00	\$10,000.00
18	Fiber Rolls	500	LF	\$4.00	\$2,000.00	\$5.00	\$2,500.00	\$30.00	\$15,000.00
19	Silt Fence	500	LF	\$4.00	\$2,000.00	\$5.00	\$2,500.00	\$30.00	\$15,000.00
20	Drill and Bond Dowel	700	EA	\$115.00	\$80,500.00	\$30.00	\$21,000.00	\$35.00	\$24,500.00
21	Bridge Deck Joint Seal	75	LF	\$125.00	\$9,375.00	\$100.00	\$7,500.00	\$125.00	\$9,375.00
22	Bar Reinforcing Steel (Shear Key/Abutment Wall)	5,600	LB	\$2.40	\$13,440.00	\$2.00	\$11,200.00	\$2.75	\$15,400.00
23	Bar Reinforcing Steel (Pier Footing)	65,500	LB	\$2.40	\$157,200.00	\$1.75	\$114,625.00	\$2.00	\$131,000.00
24	Bar Reinforcing Splice	150	EA	\$27.00	\$4,050.00	\$275.00	\$41,250.00	\$350.00	\$52,500.00
25	Structural Concrete (Shear Key/Abutment Wall)	70	CY	\$870.00	\$60,900.00	\$1,250.00	\$87,500.00	\$2,500.00	\$175,000.00
26	Structural Concrete (Pier Footing)	340	CY	\$518.00	\$176,120.00	\$750.00	\$255,000.00	\$1,200.00	\$408,000.00



Summary of Bids

Bid Date: June 7, 2018

Bid Time: 2:00 PM

Spec No: 18-08

Bid Place: Pearblossom Headquarters

Contract: C51570

	Bidder 1	Bidder 2
	Powell Constructors, Inc	J. McLoughlin Engineering Company, Inc.
	8555 Banana Avenue	10641 Fulton Court
	Fontana, CA, USA 92335	Rancho Cucamonga, CA, USA 91730
Engineer's Estimate	909-356-8880	909-944-1037

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
27	Concrete Canal Liner	3	CY	\$1,940.00	\$5,820.00	\$2,800.00	\$8,400.00	\$10,000.00	\$30,000.00
28	Injection Grout	200	CY	\$2,193.00	\$438,600.00	\$815.00	\$163,000.00	\$500.00	\$100,000.00
29	Epoxy Crack Injection	3,300	LF	\$97.00	\$320,100.00	\$40.00	\$132,000.00	\$150.00	\$495,000.00
30	Steel Pier Casing	140,000	LB	\$9.70	\$1,358,000.00	\$11.00	\$1,540,000.00	\$6.20	\$868,000.00
31	Threaded Rod Assembly	2,400	LB	\$10.50	\$25,200.00	\$10.00	\$24,000.00	\$18.00	\$43,200.00
32	Drain Pipe Assembly	2	EA	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00	\$3,750.00	\$7,500.00
33	Soffit Access Door Assembly	32	EA	\$3,200.00	\$102,400.00	\$1,000.00	\$32,000.00	\$600.00	\$19,200.00
34	Miscellaneous Metal	700	LB	\$50.00	\$35,000.00	\$7.00	\$4,900.00	\$32.00	\$22,400.00
35	Asbestos Abatement and Disposal (Cement Pipe)	1	JOB	\$3,029.00	\$3,029.00	\$5,000.00	\$5,000.00	\$75,000.00	\$75,000.00
				Total	\$4,345,000.00	Total	\$3,514,625.00	Total	\$3,763,825.00

Small Business Preference (SBP)	\$0.00	SBP	\$0.00
Non Small Business Preference (NSBP)	\$0.00	NSBP	\$0.00
DVBE Incentive (DVBE)	\$100,000.00	DVBE	\$0.00
Adjusted Bid for Comparison	\$3,414,625.00	Adjusted Bid	\$3,763,825.00

Guarantee	Ten Percent (10%) of To	otal Amount of Bid	Ten Percent (10%) of Total Amount of Bid
Surety	Fidelity and Deposit Con	npany of Maryland	Great American Insurance Company
Comments	Contract awarded o	n June 19, 2018	



Summary of Bids

Bid Date: June 7, 2018 Spec No: 18-08 Bid Place: Pearblossom Headquarters

	Bidder 3	Bidder 4
	Bugler Construction, Inc.	Cushman Contracting Corporation
	4847 Hopyard Road, Suite #4-395	5354 Overpass Road
	Pleasanton, CA, USA 94588	Goleta, CA, USA 93111
Engineer's Estimate	925-416-0700	805-964-8661

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Rescue Services	840	HR	\$415.00	\$348,600.00	\$90.00	\$75,600.00	\$400.00	\$336,000.00
2	Temporary Traffic Control	1	JOB	\$81,000.00	\$81,000.00	\$25,000.00	\$25,000.00	\$245,000.00	\$245,000.00
3	Mobilization and Demobilization	1	JOB	\$400,000.00	\$400,000.00	\$400,000.00	\$400,000.00	\$384,000.00	\$384,000.00
4	Remove Canal Liner	80	CF	\$68.00	\$5,440.00	\$100.00	\$8,000.00	\$790.00	\$63,200.00
5	Remove Pavement Section	40	CF	\$77.00	\$3,080.00	\$50.00	\$2,000.00	\$657.00	\$26,280.00
6	Remove Concrete at Soffit Access Door	60	CF	\$3,760.00	\$225,600.00	\$500.00	\$30,000.00	\$5,250.00	\$315,000.00
7	Remove Concrete at Abutment Backwall	10	CY	\$1,510.00	\$15,100.00	\$1,500.00	\$15,000.00	\$9,200.00	\$92,000.00
8	Remove Concrete at Existing Pier Footing	4	CY	\$2,000.00	\$8,000.00	\$500.00	\$2,000.00	\$13,000.00	\$52,000.00
9	General Dewatering	1	JOB	\$41,000.00	\$41,000.00	\$24,000.00	\$24,000.00	\$7,500.00	\$7,500.00
10	Shear Key Excavation	40	CY	\$723.00	\$28,920.00	\$500.00	\$20,000.00	\$1,350.00	\$54,000.00
11	Pier Footing Excavation	1,780	CY	\$92.00	\$163,760.00	\$30.00	\$53,400.00	\$77.00	\$137,060.00
12	Compacted Backfill	1,500	CY	\$98.00	\$147,000.00	\$50.00	\$75,000.00	\$87.00	\$130,500.00
13	HDPE Pipe	12	LF	\$163.00	\$1,956.00	\$100.00	\$1,200.00	\$645.00	\$7,740.00
14	Geotextile Fabric	2,600	SY	\$3.00	\$7,800.00	\$5.00	\$13,000.00	\$3.10	\$8,060.00
15	Aggregate Base	450	CY	\$121.00	\$54,450.00	\$80.00	\$36,000.00	\$140.00	\$63,000.00
16	Hot Mix Asphalt	12	TON	\$530.00	\$6,360.00	\$1,500.00	\$18,000.00	\$1,105.00	\$13,260.00
17	Seeding	2	ACRE	\$4,900.00	\$9,800.00	\$7,000.00	\$14,000.00	\$8,100.00	\$16,200.00
18	Fiber Rolls	500	LF	\$4.00	\$2,000.00	\$10.00	\$5,000.00	\$4.00	\$2,000.00
19	Silt Fence	500	LF	\$4.00	\$2,000.00	\$10.00	\$5,000.00	\$9.00	\$4,500.00
20	Drill and Bond Dowel	700	EA	\$115.00	\$80,500.00	\$50.00	\$35,000.00	\$142.00	\$99,400.00
21	Bridge Deck Joint Seal	75	LF	\$125.00	\$9,375.00	\$130.00	\$9,750.00	\$225.00	\$16,875.00
22	Bar Reinforcing Steel (Shear Key/Abutment Wall)	5,600	LB	\$2.40	\$13,440.00	\$5.00	\$28,000.00	\$2.95	\$16,520.00
23	Bar Reinforcing Steel (Pier Footing)	65,500	LB	\$2.40	\$157,200.00	\$2.00	\$131,000.00	\$1.85	*\$121,175.00
24	Bar Reinforcing Splice	150	EA	\$27.00	\$4,050.00	\$200.00	*\$30,000.00	\$247.00	\$37,050.00
25	Structural Concrete (Shear Key/Abutment Wall)	70	CY	\$870.00	\$60,900.00	\$3,000.00	\$210,000.00	\$2,700.00	\$189,000.00
26	Structural Concrete (Pier Footing)	340	CY	\$518.00	\$176,120.00	\$1,500.00	\$510,000.00	\$890.00	\$302,600.00
27	Concrete Canal Liner	3	CY	\$1,940.00	\$5,820.00	\$1,000.00	\$3,000.00	\$2,770.00	\$8,310.00
28	Injection Grout	200	CY	\$2,193.00	\$438,600.00	\$800.00	\$160,000.00	\$790.00	\$158,000.00



Summary of Bids

Bid Date: June 7, 2018

Spec No: 18-08

Bid Place: Pearblossom Headquarters

Bid Time: 2:00 PM Contract: C51570

	Bidder 3	Bidder 4
	Bugler Construction, Inc.	Cushman Contracting Corporation
	4847 Hopyard Road, Suite #4-395	5354 Overpass Road
	Pleasanton, CA, USA 94588	Goleta, CA, USA 93111
Engineer's Estimate	925-416-0700	805-964-8661

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
29	Epoxy Crack Injection	3,300	LF	\$97.00	\$320,100.00	\$100.00	\$330,000.00	\$81.50	\$268,950.00
30	Steel Pier Casing	140,000	LB	\$9.70	\$1,358,000.00	\$13.00	\$1,820,000.00	\$6.50	\$910,000.00
31	Threaded Rod Assembly	2,400	LB	\$10.50	\$25,200.00	\$10.00	\$24,000.00	\$12.00	\$28,800.00
32	Drain Pipe Assembly	2	EA	\$1,700.00	\$3,400.00	\$15,000.00	\$30,000.00	\$4,820.00	\$9,640.00
33	Soffit Access Door Assembly	32	EA	\$3,200.00	\$102,400.00	\$500.00	\$16,000.00	\$2,000.00	\$64,000.00
34	Miscellaneous Metal	700	LB	\$50.00	\$35,000.00	\$10.00	\$7,000.00	\$6.70	\$4,690.00
35	Asbestos Abatement and Disposal (Cement Pipe)	1	JOB	\$3,029.00	\$3,029.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00
				Total	\$4,345,000.00	Total	*\$4,173,950.00	Total	*\$4,212,310.00

Small Business Preference (SBP)	\$0.00	SBP	\$0.00
Non Small Business Preference (NSBP)	\$50,000.00	NSBP	\$0.00
DVBE Incentive (DVBE)	\$0.00	DVBE	\$0.00
Adjusted Bid for Comparison	\$4,123,950.00	Adjusted Bid	\$4,212,310.00

Guarantee	Ten Percent (10%) of Total Amount of Bid	Ten Percent (10%) of Total Amount of Bid
Surety	Hartford Fire Insurance Company	Travelers Casualty and Surety Company of America
Comments		



Summary of Bids

Bid Date: June 7, 2018

Spec No: 18-08

Bid Place: Pearblossom Headquarters

Bid Time: 2:00 PM **Contract:** C51570

Title: Seismic Retrofit - Bridge, Los Robles Road

Bidder 5

Bosco Constructors, Inc.
21353 Mayall Street
Chatsworth, CA, USA 91353
Engineer's Estimate

818-700-0304

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Rescue Services	840	HR	\$415.00	\$348,600.00	\$287.00	*\$241,080.00
2	Temporary Traffic Control	1	JOB	\$81,000.00	\$81,000.00	\$293,000.00	\$293,000.00
3	Mobilization and Demobilization	1	JOB	\$400,000.00	\$400,000.00	\$960,000.00	\$960,000.00
4	Remove Canal Liner	80	CF	\$68.00	\$5,440.00	\$156.00	\$12,480.00
5	Remove Pavement Section	40	CF	\$77.00	\$3,080.00	\$332.00	\$13,280.00
6	Remove Concrete at Soffit Access Door	60	CF	\$3,760.00	\$225,600.00	\$3,912.00	\$234,720.00
7	Remove Concrete at Abutment Backwall	10	CY	\$1,510.00	\$15,100.00	\$5,454.00	\$54,540.00
8	Remove Concrete at Existing Pier Footing	4	CY	\$2,000.00	\$8,000.00	\$13,812.00	\$55,248.00
9	General Dewatering	1	JOB	\$41,000.00	\$41,000.00	\$427,257.00	\$427,257.00
10	Shear Key Excavation	40	CY	\$723.00	\$28,920.00	\$1,428.00	\$57,120.00
11	Pier Footing Excavation	1,780	CY	\$92.00	\$163,760.00	\$120.00	\$213,600.00
12	Compacted Backfill	1,500	CY	\$98.00	\$147,000.00	\$192.00	\$288,000.00
13	HDPE Pipe	12	LF	\$163.00	\$1,956.00	\$399.00	\$4,788.00
14	Geotextile Fabric	2,600	SY	\$3.00	\$7,800.00	\$6.00	\$15,600.00
15	Aggregate Base	450	CY	\$121.00	\$54,450.00	\$249.00	\$112,050.00
16	Hot Mix Asphalt	12	TON	\$530.00	\$6,360.00	\$858.00	\$10,296.00
17	Seeding	2	ACRE	\$4,900.00	\$9,800.00	\$7,809.00	\$15,618.00
18	Fiber Rolls	500	LF	\$4.00	\$2,000.00	\$21.00	\$10,500.00
19	Silt Fence	500	LF	\$4.00	\$2,000.00	\$30.00	\$15,000.00
20	Drill and Bond Dowel	700	EA	\$115.00	\$80,500.00	\$118.00	\$82,600.00
21	Bridge Deck Joint Seal	75	LF	\$125.00	\$9,375.00	\$109.00	\$8,175.00
22	Bar Reinforcing Steel (Shear Key/Abutment Wall)	5,600	LB	\$2.40	\$13,440.00	\$5.00	\$28,000.00
23	Bar Reinforcing Steel (Pier Footing)	65,500	LB	\$2.40	\$157,200.00	\$5.00	\$327,500.00



Summary of Bids

Bid Date: June 7, 2018

Spec No: 18-08

Bid Place: Pearblossom Headquarters

Bid Time: 2:00 PM

Contract: C51570

	Bidder 5
	Bosco Constructors, Inc.
	21353 Mayall Street
	Chatsworth, CA, USA 91353
Engineer's Estimate	818-700-0304

Item No	Item	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost
24	Bar Reinforcing Splice	150	EA	\$27.00	\$4,050.00	\$767.00	\$115,050.00
25	Structural Concrete (Shear Key/Abutment Wall)	70	CY	\$870.00	\$60,900.00	\$1,706.00	\$119,420.00
26	Structural Concrete (Pier Footing)	340	CY	\$518.00	\$176,120.00	\$1,056.00	\$359,040.00
27	Concrete Canal Liner	3	CY	\$1,940.00	\$5,820.00	\$9,358.00	\$28,074.00
28	Injection Grout	200	CY	\$2,193.00	\$438,600.00	\$347.00	\$69,400.00
29	Epoxy Crack Injection	3,300	LF	\$97.00	\$320,100.00	\$227.00	\$749,100.00
30	Steel Pier Casing	140,000	LB	\$9.70	\$1,358,000.00	\$9.00	\$1,260,000.00
31	Threaded Rod Assembly	2,400	LB	\$10.50	\$25,200.00	\$14.00	\$33,600.00
32	Drain Pipe Assembly	2	EA	\$1,700.00	\$3,400.00	\$3,988.00	\$7,976.00
33	Soffit Access Door Assembly	32	EA	\$3,200.00	\$102,400.00	\$7,435.00	\$237,920.00
34	Miscellaneous Metal	700	LB	\$50.00	\$35,000.00	\$29.00	\$20,300.00
35	Asbestos Abatement and Disposal (Cement Pipe)	1	JOB	\$3,029.00	\$3,029.00	\$20,200.00	\$20,200.00
				Total	\$4,345,000.00	Total	*\$6,500,532.00

Small Business Preference (SBP)	\$0.00
Non Small Business Preference (NSBP)	\$50,000.00
DVBE Incentive (DVBE)	\$50,000.00
Adjusted Bid for Comparison	\$6,400,532.00

Guarantee	Ten Percent (10%) of Total Amount of Bid				
Surety	Hartford Fire Insurance Company				
Comments					